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- Energy increases
Short wavelength : Long wavelengthl
I 1
10 nm 102 nm 1nm 10° nm 10° nm Tm 10°m
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Gamma rays X rays Ultraviolet Infrared Microwaves Radio waves
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High frequency Low frequency
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Ex. Square Waves Using Sine Waves.
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X(f) = / x(t) e~927It gt
N—1 .
X[m] =Y z[n]e %" m=0,1,..N -1




X0 =14+2+2+1=6
X[1] =142 7 + 2™ 4 e ™2

X[2] =142 ™ 42e 2™ 4 %™

X[3] =142 7% 4 273 4 27




il ealez @7 = cosf 4 sin 4kl 4zl

X0l =1+2+2+1=6

T

X[1] = 142(cos( 2)—|—jsin(—%})—l—?(ms(—?T}—l—jsin(—?r)}—l—[ms(—%ﬂ}—kj sin(—%ﬂ)} = —1—3

X[2] = 14+2(cos(—m)+7sin(—m))+2(cos( —2m)+7 sin( —27) )+(cos( —37)+7 sin(—37)) =0

X[3] = 1—|—2{=:+:35(—%?r)—i—jsin(—%ﬂ))—i—Q{ms[—S?r)—l—jsin{—B?r))—i—(ccrs[—%?T}—l—j sin(—g?r)) = —1+j
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Fourier transform .
.Qg..o.s solaw] P )G
Syntax
fourier(f,trans var,eval point)

>> SymS X
>> £ = exp(-x"2);
»>> fouriler (f)

pit(1/2) *exp(—-w"2/4)
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ft

Fast Fourier tfransform

Syntax
¥ = £t (x)
¥ = £ft (¥, n)
Y = £ft(¥, [],dim)
Y = fft(¥,n,dim)
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zl0] =1, z[l] =2, z[2] = 2, z[3] =1

1 — clear all;

2 — close zl11;

Bk clc; 6&.0000 + 0.00001

4 — x=[1 2 2 1]; -1.0000 + 1.00001

5— X = fft(x) 0.0000 + 0.0000i
-1.0000 - 1.00001
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1 — ¥ = linspace(0,2*pi,50):

= Y = s51n(X); 1 'o@m’%

3 — stem(Y) 08 of To
06 o ¥
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0 =] &y n = W M

clear allsclose allrclcy
®¥x=-10:1:10;

y=(31n(x));
subplot(2,1,1):

plot (%, v)

v1=fft (y):
subplot(2,1,2):
stem(abs(yl), 'r'")
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fftshift

Shift zero-frequency component to center of spectrum

Syntax
Y = fftshift(X)
Y = fftshift(X,dim)



P Jls

— clear all;close all;clc:
— ¥x=-10:0.1:10;

— y=(31n(x));

— subplot(2,2,1);

— plot (%, y)

— y1=fft(y);

— subplot(2,2,2);

— stem(abs(yl),'r'")

9 — subplot (2,2, 3);

10 — Y2=fftshift(yl);

11 — stem(abs (Y2),'g");

12 — x2=linspace(l,-1,1length(Y2));
subplot (2,2,4);
stem(x2,abs(Y2), "k");
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2 — ¥x=—10:0.1:10;
3 — y=s1n(3*x);
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2 — ¥x=-10:0.1:10;

e

3 — y=31n(22*x) ;
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L= clear all;close all;clcy
2 — ¥x=-10:0.2:10;
3 = y=sinc(x):
4 — subplot(2,2,1);
5 — plot(x,¥y)
6 — y1=fft (y);
= subplot(2,2,2);
g8 — stem(abs(yl),'r")
9 — subplot (2,2,3):
10 — Y2=fftshift(yl):
11 — stem(abs(Y2), 'g'):
12 — x2=linspace(l,-1,length(Y2));
3 — subplot(2,2,4);

stem(x2,abs (Y2), "k"):
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— clear all;close all:clcy

— ¥x=-10:0.2:10;

— y=(s1nc(x)) .”2;

— subplot(2,2,1);

plot (x,v)

— y1=fft(y):

— subplot(2,2,2);

— stem(abs(yl), 'r'")
9 — subplot(2,2,3);

10 — Y2=fftshift(yl):;

11 — stem(abs (Y2),'qg"):

0 =1 o o L by
|

12 — x2=1inspace(l,-1,length(¥2));
subplot(2,2,4);

stem(x2,abs (Y2),"k"):
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clear all;close allrcle;
¥x=-1:0.01:1;

y=sin (90*pi*x)+5*sin(4*pi*x) ;
subplot(2,1,1):;

plot(x,y, 'LineWidth', 2)
y1=£fft(y);

Y2=fftshift (yl);
¥x2=1inspace(l,-1,length(Y2));
subplot (2,1, 2);

stem(x2,abs(Y2),'k", "LineWidth', 2) ;
xlabel (" [-\pi,+\pil")
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Ifft

Inverse fast Fourier transform

Syntax

v
v
v
v
v
v

= 1fft (X)

= 1fft(¥X,n)

= 1fft (¥, [],dim)

= 1fft({¥,n,dim)
ifft{..., '"aymmetric')

ifft({..., "nonsymmetric')




— close alljclear all;clc
— ¥x=-20:00.1:20;
— y=sinc(x):
subplot(3,1,1)
— plot(x,y, "LineWidth', 3)
— Y=fft(y);
— subplot (3,1, 2)
— Y2=fftshift (Y):

g — plot(x,abs(Y2), 'LineWidth', 3)
10 — Y3=1fft (Y) :

11 — subplot (3,1, 3)

12 plot(x,Y3, 'LineWidth', 3)

0 =1 gy L s W b
|
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— close all;clear all;clc
— ¥x=-20:0.1:20;

— y=sinc(x).* sin(x):

— subplot(3,1,1)

— plot(x,vy, 'LineWidth"', 3)
— Y=fft (y);

— subplot(3,1,2)

— Y2=fftshift (¥Y):

plot (x,abs(Y2), "LineWidth', 3)
Y3=1f£ft (¥Y);
subplot(3,1,3)
plot(x,Y3, 'LineWidth"', 3)
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1— close all;clear all;cle;

2

2 ¥x=0:p1/100:2%pi;

4 — y=2*51n(x)+s1in(50*x) ;

5

6 — figure (1)

I plot (%X,y, 'LineWidth', 2);

8 — x1im ([0 2*pi]l):; ylim([-5 5])

2]
10 — y1=fft (y);
11 — y2=fftshift (yl):
12 — v3=abs (y2) ;
13 — x2=linspace(-1,+1,1length(y2));
14
15 — figure (2)
16 — iidth',2):

stem(x2,vy3, 'k', "Line
xlabel (' [-\pi,+\pi]"

)

=
|
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18
19 figure (3)
20 subplot(3,1,1); |stem(x2,y3,"'k', 'LineWidth',2);
21
22 H=zeros (1, length(x)):
23 for i1=1:length (x)
24 1f x2(1)>-0.1 & x2(1)< 0.1
25 H(i)=1;
26 end
27 end
28
25 subplot(3,1,2); stem(xZ, (H), 'r");
30 ylim([-0.2 1.2]):
31
32 H2z=1fftshift (H):
33 Zz=y1l.*H2;

subplot (3,1,3):
stem(x2, fftshift(z), "LinewWidth', 2);
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36
37
38
39
40
41
42
43
44
45
46
477

figure (4)

z2=1fft(z);

plot (x,z2, 'LineWidth', 2)
x1im ([0 2*pi]):; ylim([-5 5])

figure (5)

hold on

plot(%x,v,'qg', 'LineWidth', 2)
plot (x,z2,'k', 'LineWidth', 2) ;
x1im ([0 2*pil); ylim([-5 5])
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B I -
2= Xx=0:0.02:2%pi;

4 — y=2*31n(x)+3*cos (5*x)+0.5*31n(100*x) ;

22 — H=zeros (1, length (x))

23 — for 1=1:1length (x)

24 — 1if x2(1)>-0.1 & x2(1)< 0.1

25 — H(i)=1;

26 — end

27 — end
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WQI'I awgn
Generate white Gaussian noise Add white Gaussian noise to signal
Syntax Syntax

¥ = wogni{m,n,p) ¥ = awgn(x,3nr)
“F F

¥ = wgni{m,n,p,1ilmp)
¥ = wgni{m,n,p,imp, 3tate)
¥y = wgn{...,povertvpe)

¥ = awgni{x,snr, sigpower)

¥ = awgn{x, snr, 'measured")

¥ = awgn{x,3nr,sigpower, 3)

¥V = awdgn(x,snr, "measured'’, 3tate)

¥ = wgn(...,outputtype) ¥ = awgn(...,povertype)
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1— close allj;clear all;clc;
2 — x=0:p1/100:2%p1i;

3 — RND=randn (1, length(x)):
4 — y=(sin(x)) .~3+0.3*RND;

1 — close all;clear all;clcy
= ¥x=0:pi/100:2*pi;

3 — y=(sin(x)) .~3+0.3*wgn (1, length(x),0):
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1 — close all;clear allrcley
2= x=0:p1/100:2%p1i;
= END=randn (1, length(x));
4 — y=(sin(x)) ."3+0.3*RND;
3
6 $ y=(sin(x)) .”3+0.2*wgn (1, length(x),0);
7
g8 — plot(x,vy, 'LineWidth', 2);
g9 — x1im ([0 2*pil);
10
11 %
12 — ft y=(££t(y)):
13 — figure

14 — stem(x, abs (fftshift(ft y)), 'LineWidth', 2)
x1im ([0 2*pi])
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16 %%
17| = figure
18 — subplot (3,1,1); stem(x,abs(fftshift(ft y)), 'LineWidth', 2)
19 — ®x1im ([0 2*pil):
20
21| = H=zeros (1, length(x));:
= Mx=max (abs (£Eftshift (ft y)));
o= Mn=min (abs (£ftshift (ft y)));
24 — Md= (Mx-Mn) *0.2;
s = Md2=mean (abs (fftshift (ft vy))):
26 — fts y=abs (fftshift(ft y)):
27|= for i=1:1length (%)
28 — if fts y(i)>2*Md2
29 — H(1)=1;
30 — end

31 — end
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32 %%

33 — subplot(3,1,2):; stem(x, (H),'r"):

34 — ylim([-0.2 1.2]):;x1im([0 2*pi]):

35 — H2=1fftshift (H):

36 — Z=ft y.*H2;

37 — subplot(3,1,3)r stem(x,abs(fftshift(Z)), 'LinewWidth', 2);

38 — x1im ([0 2*pi]);

39 %%

40 — figure

41 — z2=1fft (Z):

42 — plot (x,22, 'LineWidth', 2)

43 — x1im ([0 2*pi]); ylim([-5 5])

44 %%

45 — figure

46 — hold on

47 — plot(x,y,'qg", 'LineWidth', 3) D

48 — plot(x,22,'k", "LineWidth', 3)

49 — x1im ([0 2*pil); ylim([-1.2 1.47)

(]
®
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1-Digital Signal Processing Using MATLAB
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